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Options:

x 23 : 27

% 23 : 22

v 46 : 43

% 46 : 33

Question Number : 56 Question Id : 7230531594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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gfe 272

Options:

24.6

i

« 275

% 24.9

% 27.8

Sub-Section Number: 3
Sub-Section 1d: 723053111
Question Shuffling Allowed : Yes

Question Id : 7230531595 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 57 Question Id : 7230531596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 2
% 3

% 4

v b

Question Number : 58 Question Id : 7230531597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 18.8
% 19.6

v 251



% 26.6

Sub-Section Number: 4
Sub-Section Id: 723053112
Question Shuffling Allowed : Yes

Question Id : 7230531598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension
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Sub questions

Question Number : 59 Question Id : 7230531599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 125



v 145
% 150

% 155

Question Number : 60 Question Id : 7230531600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 16

% 18

« 20

% 24
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 723053113
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7230531601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct synonym of:

phony
Options:
% similar

" fake
% covered

% heavy

Question Number : 62 Question Id : 7230531602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of:

resume
Options:
« discontinue

« develop
% continue

% disturb

Question Number : 63 Question Id : 7230531603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of the underlined word to fill in the blank.

The colossal statue appeared very odd compared to the figure of the dead king lyving next to it.

Options:



5 huge
% terrible
% glgantic

o tiny

Question Number : 64 Question Id : 7230531604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the correct word.
I love vibrant colours of the flowers in your garden.

Options:
g any

« the
% a

# none

Question Number : 65 Question Id : 7230531605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word.

they sell beetroots in this shop?

Options:
# Were
% Was

« Do

# Does

Question Number : 66 Question Id : 7230531606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blank with the appropriate word.

Your plan is great. It is going to benefit all of us.

Options:
% hardly

» fully
» certainly

% hearly

Question Number : 67 Question Id : 7230531607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

When you present a talk or have a conversation on a controversial topic. you must remember to choice your approach
carefully, otherwise you may land vourself in hostile reactions.

Options:
% present a talk

% ona
« to choice

% may land yourself

Question Number : 68 Question Id : 7230531608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

The most important thing for yvou is to remember that all player must play according to his full potential.

Options:
% T'he most important

# to remember

» all player



% his full potential

Question Number : 69 Question Id : 7230531609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose the passive voice form of the given sentence.

During the school audit the auditors observed that some of the teachers had great teaching skills.
Options:

« It was is observed by the auditors during the school audit that some of the teachers had great teaching skills.

It was being observed by the auditors during the school audit that some of the teachers were having great teaching
% skills.

» It was observed by the auditors during the school audit that some of the teachers had great teaching skills.

% The school auditors had observed during the school audit that some of the teachers had great teaching skills.

Question Number : 70 Question Id : 7230531610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the most appropriate indirect speech form for the following sentence.

Monika said to me, *What a pity you missed my sister’s wedding!™

Options:
% Monika asked why it was a great pity that I had missed her sister’s wedding.

% Monika asked her friend that it was a great pity that I had missed her sister’s wedding.
% Monika said to me that it was a great pity that I have missed her sister’s wedding.

» Monika exclaimed that it was a great pity that I had missed her sister’s wedding.

Question Number : 71 Question Id : 7230531611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the option that best combines the two given sentences.

You may have already received a copy of the notice. In that case, please ignore this one.

Options:
% Unless you have already received a copy of the notice, please ignore this one.



» 1T you have already received a copy of the notice. please ignore this one.
% As you have already received a copy of the notice, you may ignore this one.

% Although you have received a copy of the notice, in that case please ignore this one.

Question Number : 72 Question Id : 7230531612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
% “All our crops have run dry,” Wailed rampal And Suraj. “We have nothing to eat.”

% All our crops have run dry,” wailed rampal and suraj. * We have nothing to eat.”
» “All our crops have run dry.” wailed Rampal and Suraj. “We have nothing to eat.”

% “All our crops have run dry, wailed Rampal and Suraj.” “We have nothing to eat.”

Question Number : 73 Question Id : 7230531613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the word that is correctly spelt.

Options:
% coleague

% comission

» balatial

# embarrasment

Question Number : 74 Question Id : 7230531614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word.

You are putting on weight. You must on vour consumption of fat.

Options:
# cuf out



« cut down
% cut off

% drop down

Question Number : 75 Question Id : 7230531615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate idiom/phrase.
Though one person made the mistake, the entire staff had to for the blunder.

Options:
% cry over spilt milk
« face the music

% fall short of

% lose heart

Sub-Section Number: 2
Sub-Section 1d: 723053114
Question Shuffling Allowed : Yes

Question Id : 7230531616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cesticn Label | Comprehension



Read the following passage and answer the questions that follow on
the basis of your reading.

The obsessive search for complete happmess has its utopian value. But
m life. 1t is that little sorrow m your heart. which is so much your own
that it actually makes vouwho you are. People tell us how a sorrowful
experience made them see the larger picture. It made them realise that
sorrow is but a creation of the mind and that the wise are those who
face joy and sorrow with equanmmity. There are others who believe that
if happmessis a gft of God. so is sorrow. In the Mahabharata. Kuntiis
believed to have said to Krishna that the only boon she deswred was
everlasting sorrow and misery so that the name of God could always
be on her lips. We fear sorrow and find 1t in many experiences — the
mconvenient idea of a power cut in the scorching heat of summer or
the loss of a loved one or a dreaded disease — the gamut is large.
Sorrow is not easy to bear. but bear it we must. It ies m a corner of
your storeroom and does not come with options. Not located m the best
part of the house. not dusted so often. the storeroom. however. has that
piece of rope when vou are searching for it; the duftle bag. when you
have to travel —that long forgotten pan which is coming n handy
NOW.

Empathy and compassion are the first manifestations of universal love
tor all hving bemgs. These essential trait of humaneness find thewr
source m that little bundle of sorrow you have. hidden withn your
heart. It tones down aggressiveness. making you gentler. Treasure it as
the lesson for iving a compassionate and humane life. The storeroom
m your heart needs to be without self-pity. hatred and revenge. only
then yvour fmer sentiments are able to find expression.

Sub questions

Question Number : 76 Question Id : 7230531617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the option that completes the meaning of the
sentence.

Sorrow, though a dreadful experience, is valuable as
it:

Options:
% brings happiness.

» teaches us important lessons of life.

% I1s a utopian idea.



% 1s auniversal goal of life.

Question Number : 77 Question Id : 7230531618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of these experiences is NOT a manifestation
of sorrow?

Options:

» Someone cheating or deceiving you

% Death of a loved one
« A dark store room

% Poor health

Question Number : 78 Question Id : 7230531619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Sorrow is compared with a long forgotten pan in the
store room because:

Options:

% both are covered with dust.

% vou don’t care for both of them.
% they are useful in an emergency.

» they have a sentimental value.

Question Number : 79 Question Id : 7230531620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How does sorrow make youa better pEi‘SDﬂ?

Options:
» It teaches you compassion and gentleness

% It makes you aggressive

s It fills you with self-pity



It enables you to give expression to your innermost
g feelings

Question Number : 80 Question Id : 7230531621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The passage highlights:

Options:
» that sad experiences are invaluable.
% the elusiveness of happiness.

% the importance of being loving and kind-hearted.

» that misery and sadness are everlasting.
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Question Numbers: (81to 85)
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Sub questions

Question Number : 81 Question Id : 7230531623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 82 Question Id : 7230531624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 83 Question Id : 7230531625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 84 Question Id : 7230531626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 85 Question Id : 7230531627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 86 Question Id : 7230531628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=f@T & ¥ acgF e oifev|

Options:

\,‘FﬂErr
« TG
« AN

Question Number : 87 Question Id : 7230531629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 88 Question Id : 7230531630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:

Question Number : 89 Question Id : 7230531631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 90 Question Id : 7230531632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 91 Question Id : 7230531633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 7230531634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 93 Question Id : 7230531635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 94 Question Id : 7230531636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 95 Question Id : 7230531637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 96 Question Id : 7230531638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 97 Question Id : 7230531639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 7230531640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 99 Question Id : 7230531641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:



% 19 AT 9=ar

v T T

% dld deb = H 5l

% Sid SglAl
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Correct : 1 Wrong: 0.25
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Question Number : 101 Question Id : 7230531643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 140
% 170
% 180

« 190

Question Number : 102 Question Id : 7230531644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

el A % T 280 ©F W A ¢ I &F W AT § AT A &1 TH H AR 140 & @R 3R 50
o 3T 99 3 @R T g 21 39 IEEAT H A fHR UF T IS FIA T OrEr HT TEAr FoOar
RIS

Options:
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Question Number : 103 Question Id : 7230531645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 104 Question Id : 7230531646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

12
% 16
% 24
% 32

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 105 Question Id : 7230531647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
s A=0
x A={0}
x A={1}
# A=R

Question Number : 106 Question Id : 7230531648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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% 16
% 32

« 64

Question Number : 107 Question Id : 7230531649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« A=(A\B)U(ANB)
% AN B = X\[(A\B) U (B\4)]
« A\B = (X\B)nX

»AUB = (A\B) U (B\4)

Question Number : 108 Question Id : 7230531650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« 8

# 9
# 10
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Question Number : 109 Question Id : 7230531651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 110 Question Id : 7230531652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 111 Question Id : 7230531653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e S={1,2} X T={23,4), ar (SUT) X(SNT) gr=m:
Options:

o {(11 2)1 [21 2); (3J 2)! (4! Zj}

#® {(11 2)1 [ZJ 2); (11 3); (21 3)1 Ell 4)! (21 4J}

% {(2,1),(3,1),(41),(2,3),(1,4),(2,4)}

® { {:21 1)1 (3, 1)1 (41 1) }

Question Number : 112 Question Id : 7230531654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IGE=ICIECEREELR)
{(x,v):y=lx—1|, x €Z,|x| = 2]} FT SHF =T
Options:

® {31 21 ]-J D}



% 10, 1, 2}
w 32101231

w {_21_11 Ur 112}

Question Number : 113 Question Id : 7230531655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT T R R f(x) =" ¥ &7 F qRenT FE g7 &, ar

x+1
Options:
% Th-Uh TR
o HTO! g ¥ IRenia g

« T @

Question Number : 114 Question Id : 7230531656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A f: L~ L THIREIEf(x) =5x+2 % T H IReAS ham gam, Wl x€Z F W A f 7
Options:

® P

" Uch-Uch

% o df T-Us 3k T F

Question Number : 115 Question Id : 7230531657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g(x)=/(x? —3x+2) FFF F A &
Options:

® (_mr DOJ




% (—%,—2]
x [—1,00)

v (7, 1]V [2,00)

Question Number : 116 Question Id : 7230531658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Tfe f[x}=m, ar |f(2)— F(—2)| &1 AT &

X
Options:

% 0
% 1
7 2

® 3

Question Number : 117 Question Id : 7230531659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT N>R & f()=Bx-1DF & H gR-R ﬁg(x);‘?z#mﬁqﬁ'mﬁﬁmw%,
dar (gef)0)=

Options:
# 1

1
o 2

% 0

[

Question Number : 118 Question Id : 7230531660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I fF)=x"neEN 3R (geH)=ng(x), A g(x) ____ & THhaT gl

Options:



Question Number : 119 Question Id : 7230531661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T f(x) oAl &7 38T g [0,2], aF f(2x+ 1) FeId & SHT g9

Options:

. __%’ﬂ
W D‘%]
W _%’U]
% [0,2]

Question Number : 120 Question Id : 7230531662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Y F SEIR &1 93T FeT f(x) = |x —1|+[x —2[.x ER
Options:

#® {:_DDJ mj

x (—,1]

s [1,)

x [1,2]

Subject Related
Group Number : 7



Group Id : 72305382

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20

Subject Related

Section Id : 72305382

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 723053118
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7230531663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3x—1)?’+3 FIAF &, ar f:R->R T & SN H AR £
Options:

wr=1

£ x=20

s ¥y=1

x y=0

Question Number : 122 Question Id ;: 7230531664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T fx)=x% 3R glx)=3* TTaeF AT T T GFRA &, ar (go X)) =(Feg)(x) F o
FATIT grer?

Options:

% 0




o 2

% 3

Question Number : 123 Question Id : 7230531665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afe f(x)=2%, ar

Options:

x [x+y)=F)A+ )
% [(2x) =2f(x)
x fOy) = FOf )

¢ FO)+ ) =f)+ f)f(y —x)

Question Number : 124 Question Id : 7230531666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T THEae & Joar & UF dT F O, Tehfed AT TH gl
Options:

W HHDETAT geeT

wmm?ﬁ
% oheol TATHAT

Question Number : 125 Question Id ;: 7230531667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T () 3R [, x 71 BreeRs H#R AT o wrga w9 § A ] + 20 oA i

k=1 jpp0

Options:
% 1000x



% 0
o X

% 1

Question Number : 126 Question Id : 7230531668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofe [x], x & JAAHAT=T AT FH TEJT FAT g ar y=[x%] - [x]%,x €[0,2] FT HaA-TAEIT &

Options:

x {0}

% 10,1}
v {0,1,2}

» (1,2}

Question Number : 127 Question Id : 7230531669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
7T o fF P):n(n+1)(n+2) fsrew § 12 @, ot Teafof@a & =i @1 @ 22

Options:
% P(1)

s P(4)
% P(5)

% P(9)

Question Number : 128 Question Id : 7230531670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TfE P(n):4n+ 3 UF HAST TETT g, af Aeateiad H Hid & ITdd g7
Options:
% P(1)




x P(2)
v P(3)

x P(4)

Question Number : 129 Question Id : 7230531671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TF T 7 WOT (STFE) F I e Fua F1 o7 w1 71 gow & 339 @ & &F P)
TET 2 P(n) WaT g = Pn+1)neN & BT gdr g, ar P(n) Tfr & forc mér B

Options:
#ne N._

gn=2,

R e

Question Number : 130 Question Id : 7230531672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

n€N & 9g A IaT T orm@F Bw P(n):2" > n? &

Options:
# n=2

Question Number : 131 Question Id : 7230531673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT SNferT &5 P(n):n? —n + 41 U HE9=T T&T &, of Teateiag & i I Tad 872
Options:

x P(4)



« P(5)
x £(9)

v P(41)

Question Number : 132 Question Id : 7230531674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofe nC,_, =28, @ n & & &

Options:

% 6
x 7/
« 8

# 9

Question Number : 133 Question 1d : 7230531675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I (n+1DP.=18xXx(n—1)B,, af n & A &

Options:
4 TT 5

% 6 AT 7
w8 33T 9

% 10 41 11

Question Number : 134 Question Id : 7230531676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
15 st arer el sgerer & foroer faeeot @ 872
Options:

« 90

% 105



% 120

% 135

Question Number : 135 Question Id ;: 7230531677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5 Afgenatt A 5 Wootd T HI TF bR A & =GR AN fFar afes & Somr a1 @war g &
Hig A & AfgeT TH gAY F & H A g7

Options:

% 24

% 120
x 720

« 2880

Question Number : 136 Question Id : 7230531678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3AFT-3ETeT LA hr 5 e8] #r Afdeed 3Rl & 3 99 # @ AT T80 9ol gy § 5 98 @ ST
Twdr 1 g7 et = e e afF ¥ @ T § OfF ST gew el 7 12

Options:

% 60
% 90
« 150

% 210

Question Number : 137 Question Id : 7230531679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ORDINATE & Wl 3R H1 39T Tl §U Fohael HolT-3elT 91§10 S Fohdd ¢ alfes AT fawsy
T W &7

Options:

% 400

% 441



% 484

« B76

Question Number : 138 Question Id ;: 7230531680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(5x + 7y —82)%° & T&g Hr gE&m gl

Options:

% 210

v 231
% 253

% 276

Question Number : 139 Question Id : 7230531681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

BANANAS 2leg & 37T T fhder allss @ G<ar 31 Tahar ¢ f& & N 98913 7 817
Options:

300

% 400
% 500

% 600

Question Number : 140 Question Id : 7230531682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
forer FfFEmsy ¥&ar 2 & T 2] + |z - 20| & =578 A4 &

Options:

% 0

% 1

& 2



® 3

Subject Related

Group Number : 8

Group Id : 72305383
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20

Subject Eelated

Section Id : 72305383

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 723053119
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7230531683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I 2,,2,,2; ST G U OEAY T ¢ &

Izl =lzol = lzsl = |-+ =4+ =1, A |z, + 2z, + 2] &
Z4q Za Zg

Options:

s 1 % TET

%13 FH

%« 3 T HOF

% 3 & TET



Question Number : 142 Question 1d : 7230531684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
& a,b,c HEET-IHET FETT IR AHPNcAS 3% ¢ AR w # 1 SHEF & g7 g, a

X =la+bw+ cw?|+|a+ bw® + cw| T FYATH A &

Options:

v 62
® 3
. 4v3

® 2

Question Number : 143 Question 1d : 7230531685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
lz—1] =z +i| ¥ @ Y& Tdgay gl

Options:

. 1 B=ar arer #1539

. (1,0) 3R (0,-1) = ¥z g & @ & &9 g

, O F @ S Sl Je W

, TF & T H (1,0), (1,0) T FEx Gel W W TF Iod

Question Number : 144 Question Id : 7230531686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IEEINT I RA @O FroF 1,22 i ¥ Tagait garr = T ey gar &1

ok
V2

Options:

., ONH g5 TUT TIEA Fo7 Jrer

HHAHS

= e



o SR

% HHFIUT TN

Question Number : 145 Question Id ;: 7230531687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T wP=1 3R w=l, @ (1+0)1l+e)(1+0*)(1+w®) =2

Options:

% 3
® -3
% 9

v 1

Question Number : 146 Question Id : 7230531688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T EfEUTT FHEOT az’ + bz +c =0 Fr A, T a, b, c TEAH FEAW § IF o owe T
THIOT & g1 IEdas JA €

Options:

=T =]
N =
TR R

®

=R~
| =
I
LT

B la
Il
| =
I
TR s

|
=T =
Il
o |
TR

Question Number : 147 Question 1d : 7230531689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afems @ear 7 + 241 & T &

Options:



& #=Fi8430
o —4—3i4+3i
o AL BTA—3i

i SH=BLNrE

Question Number : 148 Question Id : 7230531690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

= §+§2+§+--- & Uger 20 T&r & T B

Options:
103+ 1)
% 20i
u 200151
% 10i

Question Number : 149 Question Id ;: 7230531691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

4x+7 <2x+1 B x Fr g FNT|
Options:
# x<1

® x<—1
o x e —3

®xe 3

Question Number : 150 Question Id : 7230531692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I a D uAEHEF §, a>b § O TR § #F @ @@ g2

Options:



b 1
e o :3, 2
% a+t+b 2
b 1

e .::_-: L
o a+b 2
b 1

% a+b 2
a 1

# a+b 2

Question Number : 151 Question Id ;: 7230531693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

s #r 3pfa 7 sofEa e & @ Afese 87 & AN TGS fahar SEET |

A

3

Options:
x=2. 322 2x4+3Iv=06,. vy >0

gty IetIveh iyl
w X =22 322, 2x4+3Iv=E6,. v =0

%x:—:’z; }’:_:’2, ZI-FS}':_:’GJ xjy‘;_::ﬂ

Question Number : 152 Question Id : 7230531694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
oY Erer goamet 2x2 + 3y2 + 422 = 1 W YR (FE) F(x,7,2) = 5x — 6y + 7z A TE& gl

Options:



5

x V14

14

~]

#
= =
=] =]

Question Number : 153 Question Id : 7230531695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
|4x + 2| < 6 W g FHT

Options:
# —1<x=2

Question Number : 154 Question Id : 7230531696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2|x]—3 = |x— 1| R gT FNT|

Options:
#® [21 OO)

v (=0, —4]U [2,)

% (—o0,—4]

Question Number : 155 Question Id : 7230531697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



TgTe (1+x—3x7)» % UM & BT gl

Options:
% —2

Question Number : 156 Question Id : 7230531698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T (x— D(x—2)...(x —100) F x*° & o gl

Options:
% 4050

% —4050
# 5050

«+ —5050

Question Number : 157 Question Id ;: 7230531699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I (1+ax)"=1+8x+24x% 4+, dra &
Options:

% 1

& 2
% 3

% 4

Question Number : 158 Question Id : 7230531700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A ST n FE gdeF=F 3F g1 R (1+x)" F Beaw & 27, 37, 3% 4u1 92 @A Sof & E
ar n T AT B



Options:

® 3
# b
% 6

7

Question Number : 159 Question Id : 7230531701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(a—b)", n=5 & T FFaR & 53 3R 63 9ar & AT LT 8T &, a”rg%:

Options:
n—>5

¥ b6

Question Number : 160 Question Id : 7230531702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e ol g I T A B e TR PR ML~ W &
Options:

a 100,

w 13611

s 12C,+2

u 126,43



Subiject Related

Group Number : 9

Group Id: 72305384
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20

Subject Related

Section Id : 72305384
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7230531703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I & AR IEAEF TEAT a,b,c TAGK S0 F E 7 F abe= 4, A b F FYHAIH THT T ¢

Options:
4
% 22

£
o 23

SR

% 2

Question Number : 162 Question Id : 7230531704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o 1
y = (0.64)(1“3“-25(§+3_2+3_3+"') T AT &

Options:



# 09
« 0.8
% 0.6

# 0.25

Question Number : 163 Question Id : 7230531705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afr a HR b(za) F =T n WeAF (3TFA) AT H, H,, .. H, &, & :—i+g—j T AT

F e 2

Options:
s n+l

#n—1
« 2n

# 2n+3

Question Number : 164 Question Id : 7230531706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afy = uaTeRs IIEafa® §EAT a,b,c (¢ > a) geHF AT H &, a logla + ¢) +log(a — 2b + ¢)

& ST FEI
Options:
« 2log(c—b)

« 2logla+c)
» 2log(c —a)

» loga +logb +logc

Question Number : 165 Question Id : 7230531707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fe9T FL & a,b,c FAET Ao 7 3R A =aadg awr F g1 afd a<b < 3-ﬂ'-l'a+b+c=§,
ar a = AT e



Options:

4
2
L =
ral

B

0
iy
wl

B | ek
|
il

=
%]

B | ek
|

=

M'I|""

Question Number : 166 Question Id : 7230531708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e***3 & AR # «* T IAONSE AT F
Options:

% 33

% 3e?

Question Number : 167 Question Id : 7230531709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

log,(x — 1) =log,(x —3) & faa AT 272
Options:

x 3
v 1
% 2

% 0

Question Number : 168 Question Id : 7230531710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 11+ 2! +---100! Fr 15 ¥ Fenfag rar Sar 8, o QW a7 =ar 272



Options:
% 1

® 2
v 3

% 4

Question Number : 169 Question 1d : 7230531711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

JT 16% # 7 ¥ Fenfea G e € A 9w =y g=ar 27
% 2
% 3

4

Question Number : 170 Question Id : 7230531712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

oafeaa =1 FRET
P(n):1+3+5+—+@n-1)=mn-2)2 @ P(n) _____ & ¥
Options:

«TETn=1 &+ BT
T n=2 & BT
sFaan=1 & BT

s Faan=2 F BT

Question Number : 171 Question Id : 7230531713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

foraedr 0O UaTcH TET n<2076 §, ST T 31 4 7 5 & fsrsg &2

Options:




+ 1034
% 831
% 103

% 519
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 172 Question 1d : 7230531714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
rfafee & O o7 o ad a8

Options:
» gcd(42,12) = (3)42+ (—10)12

o gcd(42,12) = (—1)42+ (3)12
« ged(42,12) = (—3)42+ (11)12

« gcd(42,12) = (—5)42+ (18)12

Question Number : 173 Question Id : 7230531715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
RRT F ¥ T o @ P

Options:

« ged(pp+2)=1, S p T AT TET 2
% gcd(a,b) = ged(a,a — 2b)
b4 ng(ﬂ.,b] =1= ng(b:C], H‘T ng(ﬂ,,C] =4

» ged(a,b) = ged(a,a — b)

Question Number : 174 Question Id : 7230531716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
18 ¥ &7 ¢ 3T 18 & gmflies wisH g, 00 4acHs 3 Fr g=ar Gaer 32

Options:




® 3
% 4
« B

% 7

Question Number : 175 Question Id : 7230531717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Iofe a,b,c ER ﬁta+b+c=0,?ﬁaiﬁ'mﬂ'3axz+25x+c=ﬂﬁ gl
Options:

,101] # F7 ¥ FH v Hd

L [12] & &7 ¥ F7 T T

2] # A Y A TH T
-3 L

. TIg ATEdTaS T el

Question Number : 176 Question Id : 7230531718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ife FHHIoT x2 — 3kx + 2e?l0k —1 =0 #H“ﬁﬁrdéummﬂ?%"aﬁ'kz * o

= :
JrEdtas JqH &

Options:

% 1
o 2
® 3

% 4

Question Number : 177 Question Id ;: 7230531719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



It e FFeT 22 +ax+b=0 IR P +bx+a=0, a#*b, H U 33705 HA g, al a+b
Hifred AT &

Options:

v -1

% 0
% 1

w =2

Question Number : 178 Question Id : 7230531720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT a>0,b>0 3R c>0 § aF FART ax®> +bx+c =0 & 3= Hoh:

Options:

« TIEATSF HT FFRHF &
v H TEATEE ST AFRCHF &

« H IIEaias A9 9ATcHF ¢

., T TE ¥ Fredfae g

Question Number : 179 Question Id : 7230531721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ife a+b+c=0, 3 gHEEHOT
3ax*+2bx+c=0 &T gl

Options:
., (0 ¥ F7 7 &7 U HA

. 23) T AT AR (-2,-1) # gHT AqA

[
 enloMHlodeh Hod
% L

,(-10) # FH § 7 TH T



Question Number : 180 Question Id : 7230531722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT T FHEEOT (x—a)(x—B)=c,c#0 & He a, f g ar s (k—a)(x—B)+c=0F H\H%’:

Options:

# 4Q,C

% b, C

o 4, b

g atcb+c
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Group Id: 72305385

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

subject Eelated

Section Id : 72305385
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 723053121
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7230531723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofg T x? —2ax+a’+a—3=0 F AT IEAEF A3 FFA & A

Options:



Question Number : 182 Question Id : 7230531724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T ITEdae &I x F AT FRTE 2 —|x+2|+x>0

Options:

% (—o0,—2) U (2,00)

s (—o0,—V2) U (V2,00)
® {_m: _1] U Elr OO]

« (V2,00)

Question Number : 183 Question Id : 7230531725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Iﬂ%rﬂ:[f 2] 34“1'{3:[; 2],5&;5’ * Fg A= F BT 42=8 &?

Options:
% 1

# —1

% 4

o FIS FEATEH FT TG

Question Number : 184 Question Id : 7230531726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

:n%;,q:['g E]aﬁ:mﬂ:l%,a‘rﬁ FTATE r

Options:



Question Number : 185 Question Id ;: 7230531727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HHERIOT
ax+by+tecz=q—r
bx+cy+az=r—p
cxt+ay+bz=p—q

#r o=fa &

Options:
oWE, I p=q=r @

o TS, A a=b=c 3R p,qr FHTT A
« ¥, A a,b,c W?I’B-ﬁ?a+b+c=0 g

Question Number : 186 Question Id : 7230531728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T @ gES & wEE T, dli A= [0 )] & A * T T

Options:
v A

# —A
® 0

® 1

Question Number : 187 Question Id : 7230531729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

aﬁ'P=[g i],?ﬁ'}:"3 3

Options:
111 —26]
# 270 —27
1 =8
2 27L 0 =27
171 —26]
w2710 27
i[—l 26
2 27L 0 27

Question Number : 188 Question Id : 7230531730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fig 4(2,3),B(3,5),C(7,7) 3R D(4,5) 37 7R § &
Options:

., ABCD TF WATAGH Tl &

wA:B,CHiITDWE*

D BRI ABC F T T2

« D ABC & S13=31 WX U2

Question Number : 189 Question Id : 7230531731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofg et s &7 FRAdeT 38s ARST W 9sar @ 3R &es fagat (@ + La*+ 1) 3R 2620,
F Frs Al @ & 7ew fig 9 gsar g, & nifdee I@T 9T 9247 g

Options:
x V=(a+13z%

% V=2ax

x X Fy=10



slo—1Fr—(e+1Py=0

Question Number : 190 Question Id : 7230531732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g (a,2,—20),(—a+1,20) 3R (40,6 - 20) =R & & Fi7 ¥ 77 & v wREey 2

Options:

% a & g AT
v a=—1
xa=1

« @ F FT AT el

Question Number : 191 Question Id : 7230531733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rg pg+n,(gr+p) 3R e+ &

Options:

, THEg e & o

» TR
&mwﬁa?#a?rér

v THIEEY

Question Number : 192 Question Id : 7230531734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g P HR Q Wﬂ@ﬁg%mﬁﬁwmmﬁwgzk{aﬁaams % faw, k &
AT g

Options:
v 1

% -1



® 2

% -2

Question Number : 193 Question Id ;: 7230531735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3x? +3y? —2x+ 12y~ 9=0 3 x> +y> +6x+2y—15=0 Feai & FfA=oeA-[ag3 & gl oA
el I@T FT FHFIOT &

Options:

« 10x—3y+18=0
. 10x+3y—18=0
,10x—3y—18=0

. 10x+3y+18=0

Question Number : 194 Question Id : 7230531736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
I x+y=k ATy =12x F 9T, Tk &

Options:
® 3

9

Question Number : 195 Question Id : 7230531737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A AT M, F 3R F, 35 fig @ @9 309 S+ L =1 W, 9% W g d1 9% fu MEE &
SYFT A T G A T 3w I gl

Options:

» V(@ —p?)

« aV(a® —b?)



5 b‘u‘({:bz —ﬂzj

w aV(b? —a?)

Question Number : 196 Question Id : 7230531738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THETT 2 — Y 1| <1 TraeT TR e 2

1-r 1+r

Options:

% voh Jod

., T @3 & TF IIA

Question Number : 197 Question Id : 7230531739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

y=10* 3@ A y=log,,x FT 9aaaa ¢, SEmm Edewor . 2l
Options:

x v=10x

s Y=

= Y=%x4+10

¥ =1

Question Number : 198 Question Id : 7230531740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

% y2=8x IR xy=—1 % Fuface Ty I@T T FHET &

Options:
% oy =112




g ¥y=2x+1
% 2y=x+8

sYy=x+2

Question Number : 199 Question Id : 7230531741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2sin 6 FETS F H[TEY IHET e ATaREerT Eeigd 3x% + 4y = 12 F WY FATH (Flewierd) g, o
ST THEIOT gl

Options:
» X?cosec’ 8 —y?sec’d =1
g X2sec’@ — y*cosec’ 8 =1

% x2sin?@ —y%cos?f =1

x X052 —yZsint 8 =1

Question Number : 200 Question Id : 7230531742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

cos(60°— 8)cos B cos(60°+8) FT HAA grar g
Options:

% tan 38

% 3tan@

: G)sin 36

" G) cos 36

Subject Related
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Group Maximum Duration : 0

Group Minimum Duration : 0
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Revisit allowed for edit? :
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Question Shuffling Allowed :

Question Number : 201 Question Id : 7230531743 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

2sin x COSX

e R
l+cosx+sinx 1+zin x

Options:

1

oo

v 1—a

1+ o

x a—1

No
No

20

Subject Related

72305386
1

Online
Mandatory
20

20

20

Yes

No

1
723053122
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 202 Question Id : 7230531744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

afg @ =sinx + cosy 3R B = cosx +siny, ar tan(xf

Options:

x d—f

x 2 +f

)="



{a—pg)
o (a+p)

(a+p)
w (a-pg)

Question Number : 203 Question Id : 7230531745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
a9 x +y=2z2 %, Fﬂ' CDSEX-]-CDSEJF—I-CDSZE— ZCDSXCDS}ICGSZ =i

Options:
% 0
o 1

% sin’z

% cosz

Question Number : 204 Question Id : 7230531746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ufe @ = cosx +cosy,B =sinx +siny HT x—y =20 I, ““53; =%
COE
Options:
J(IZ_FJEE_B
(a®+p%)
¥ 3

Question Number : 205 Question Id : 7230531747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
sinx+2sin2x=3+sin3x, 0<x<2n T H gl

Options:

., Tehw T H UF g



, T T # ar g

[, T o TgATY H FS AU AG)

. GO It 7 UF g

Question Number : 206 Question Id : 7230531748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

fersr ABC # 3¢ cosAcosB +sinAsinBsinC =1, & fu= gl

Options:

§ TaNg

Question Number : 207 Question Id : 7230531749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afe e ABC & &ior A 3R B 1 =2r F#feor 412 — (2v6)x + 1 =0 & TIse &ar &, ar cos(A - B) &

Options:
1

v 2

b
=l =

-
ST

#

. V2

Question Number : 208 Question Id : 7230531750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



wmﬁmﬁmﬁﬁr?eméﬁﬁm&mﬁw45°maﬂwm%luﬁﬁhﬁr#ﬂ?ﬁw‘r
o 5 @ AT 7 3R Rede deR #r 3R gern Sar § a8 B & |1 60° #7 HI0T a4 g1 FA
#r T ARt F = Fr gl F@T B2

Options:

»3(1+42)m

333111

Question Number : 209 Question Id : 7230531751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF §er & 2500 m I R Rig ¥ TR e #1 3eaa For 15° 3R ohe 7 3w gfafEe @
HITAT FIUT 45° &, a7 el & T ¥ 39 96 Fr F91E &

Options:
# 7500 m

» 2500¢/3 m

« 125003 m

Question Number : 210 Question Id : 7230531752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
UeTcHS Hdewd oA (a, b) Fr g g, 3T FHIOT tan~*(a) + tan~1(b) = tan"3(7) FHr T
AT B

Options:

o 2

% 0
% 4

wE—'lﬂ?—l'



Question Number : 211 Question Id : 7230531753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
c ) X+G)=E ar sin~l(x) #r Rifgwe &g &

Options:
T

w4

oA

m|ﬂ'

w g

Question Number : 212 Question Id : 7230531754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afe tan‘le)—i—tan‘l G) =~ 8 @ X FAAE:

Options:
a

# b

v Vab

Question Number : 213 Question Id ;: 7230531755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T cos 1 (x) + cos 1 (y) =g AT tan (x)—tan1(y) =0, @ xZ+y*+xy &

Options:
1
% 8

% 0



b | Rad

b
2| =

Question Number : 214 Question Id : 7230531756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IfE @ = sin(cot™1(x)) 3T B =cot(sin1(x)), @ x>0, ar x 2 —x2 =72

Options:

Question Number : 215 Question Id ;: 7230531757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e
afE tan_i(%)=4, ar x F A &

Options:
% tan(2)

x tan(4)

 tan(8)
@ (})

Question Number : 216 Question Id : 7230531758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T lim,_, T gy o g 3R b& AT A §

tan? x



Options:

x —1 3R 2
x 2 3 3
v 2 3R 1
% 1 3R 3

Question Number : 217 Question Id : 7230531759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
R (FeFare) f(x) = x(x+ 1D (x+2)(x+3) 9T VT &F THT &I are] fmar s & f() =0 F
__®

Options:
FIGRCIPSICER G
i =) T

i
g Sk dicdlden Hel

. O ITEatas qA

. & At 7 3R wfEes |9

Question Number : 218 Question Id : 7230531760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

maﬁmmmﬁm(mmmpﬂe) [0.5,3] &, & g =g R =E, & 0.5
ks fogcawmmam

Options:
% v0.5
s V15

% V125

Question Number : 219 Question Id : 7230531761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
ofg harere y = f(x) 1 hcTedd HA GRAM 0§, AT y &

Options:

« T JUAT T

[
% Uen mcdl Henld

o T O TAT THE 7 & g Ty

« TBUX &= Frer 8

Question Number : 220 Question Id : 7230531762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(1,-2) g W af 7% y* =5x— 1 & fF AFST BF ax- 5y + b=0 §, @ a 3R b 1 7S Fw: &

Options:
x 4, 14
«—4, 14
w — 4, —14
s 4, —14
subject Eelated
Group Number : 12
Group Id: 72305387
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Subiject Related
Section Id : 72305387
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 7230531763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fx) = (x)= T TCH AT g
Options:
% 1

(&)

Question Number : 222 Question Id : 7230531764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

sedarer [ (2— |xDdx T A

Options:
« 3

3
2

| b2

®
LI =

Question Number : 223 Question Id : 7230531765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



[—2.2] W fx)=vV4—x% &7 3ilma @ &
Options:

T
® 4

S
b | E

®
w g

Question Number : 224 Question Id : 7230531766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Raed y=2—x" AN WA WMy = —x ¥ R g0 371 771 st & W gl

Options:

% 4
« 4.5
% b

% 3.5

Question Number : 225 Question Id : 7230531767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
i FHT FT 39U A §T SIS [; cost dt F A A H

Options:
% 2XCOSX

% X cosx>
% 3xcosx?

2% cos x°

Question Number : 226 Question Id : 7230531768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25

y-axis T IF x =§, l<y<4 % &9 F a0 & y-axis & IR HX FAA F 3¢9 gt el 98 &
HTTd 4T gRm?

Options:

% 3
37
® 27

® T

Question Number : 227 Question Id ;: 7230531769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong' 0.25

W J‘ '-.-'sm.x' dI =T TS %_:

u\. sin .'.1:.'+*-.- COSX
Options:
T
2

%

% 0

&
o 4

% 1

Question Number : 228 Question Id : 7230531770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e (R weion) (£2) = [1+(2) | & 7 3tk s omen
Options:

% 2 AR 1
% 2 AR 3
% 1 3R 2
v 2 3T 2



Question Number : 229 Question Id : 7230531771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ewifme gEeEor (v —xy)dx + x2dy & BT &

OptionS'
" ; In(x)+C
T—ln(y)+C
® ¥
Z=mmx)+C
¥
.= In(y)+C

Question Number : 230 Question Id : 7230531772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THRIOT cos(x + y)dy = dx T g Eﬁmﬁ'ﬂT?FﬂT%I
Options:
S7= tan("’?”)+c
=c0t(i—y)+(3
 y-m(E)c
L, ¥y =tan "’:"“)+C

Question Number : 231 Question Id ;: 7230531773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT (x+ 1) Gx—”v)—yz e*(x + 1) FT g &

Options:

"LI

= —p*
% x—1




— =g > +C
# x+1
¥
~——=e¢*+C
sx+1
¥
=e*+C
# 1—x

Question Number : 232 Question Id : 7230531774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Bwifeeraer @deRTor (xy sinxy + cosxy)y dx + (xy sinxy — cos xy)x dy = 0 =7 g ¢
Options:

% xcosxy =Cyx

% Xcosxy=y+C
g yoosxy=C+x

» ycosxy = Cx

Question Number : 233 Question Id : 7230531775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

'J%(d—””)—l—Zytanx:sinx,yG)={], ar v &1 J¥eas 7 gl

dx
Options:

1

« O

i i
o R s

O e

4



Question Number : 234 Question Id : 7230531776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e AT (ay® +x +x%)dx+ (y® — y + bxy)dy =0 qUIT: T ¢ Tfe I
Options:

wa=1.b=3

xa=2>

Question Number : 235 Question Id : 7230531777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afE 3=2i—7—8k 3T b=1+3j— 4k, ar FFT 3 2b Fr B It I gar T
ST B
Options:
3 4 12
x 13'13" 13

x 1,01
v 0,—1,0

% 0,01

Question Number : 236 Question Id : 7230531778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
|iger () 1 —2j +k on 4 — 4j + 7k = gagor ¥

Options:



WO~

O oo

Question Number : 237 Question Id : 7230531779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TIEeT 21 + 6] + 3k 3T 120 — 4j + 3k F &= &1 FIo7 &

Options:

o 9
. kgt (—
F4 19

o 3
. kgt (—
F4 1

o

)
oo ()
)
)

o 7
. kgt (—
F4 19

Question Number : 238 Question Id : 7230531780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g afeRl 21+ -k 3R 1-j+ 2k R WHEpeR e IR &
Options:

. (3—15 (1+ 5§ —3k)

Question Number : 239 Question Id : 7230531781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
afr gy d=i+j+k b=2i—4k 3ixé=

Options:

% —4

L ]

+Aj+ 3k GHAGNT §, ar A &7 AT &

L

®

%
| L

X
=1l un

Question Number : 240 Question Id : 7230531782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 723053124
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 7230531783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 242 Question Id : 7230531784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 243 Question Id : 7230531785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 244 Question Id : 7230531786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 245 Question Id : 7230531787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 246 Question Id : 7230531788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 247 Question 1d : 7230531789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 248 Question Id : 7230531790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 249 Question Id : 7230531791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 250 Question Id : 7230531792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T x+2y—3z+4 =0 3R BEE #UT =, —,— e IS F 9T T F0T &

Y14 414 414

Options:

Question Number : 251 Question Id : 7230531793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 252 Question Id : 7230531794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 253 Question Id : 7230531795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 254 Question Id : 7230531796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 255 Question Id : 7230531797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 256 Question Id : 7230531798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 257 Question Id ;: 7230531799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 258 Question Id : 7230531800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 259 Question Id : 7230531801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 260 Question Id : 7230531802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 7230531803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A o A 3k B #F gRmear & P(A) = 0.6, P(B) = 0.3 3k P(AnB)=0.2] & P(AS|B®) = ?

Options:

®
W | LA

¥
~1| tad b2 =

<

| b2

®

Question Number : 262 Question Id ;: 7230531804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 263 Question Id : 7230531805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 264 Question Id : 7230531806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 265 Question Id : 7230531807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 266 Question Id : 7230531808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 267 Question Id : 7230531809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T # ¥ & r § | (RO,Q) 39T T g & e &wa g smar £ 387 3 @ 3R @
% d8d O a®b=a® 3R k®a =ka F zarT IReRT fFar Tam &, @7 R @ 3 § T 9piae
HEAT3HT F T A7

Options:

« T wEAET §

o T TR A ¥
% TEcHS Fidels
« TEMcHAS T

Question Number : 268 Question Id ;: 7230531810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 269 Question Id : 7230531811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 270 Question 1d : 7230531812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 271 Question Id : 7230531813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 272 Question 1d : 7230531814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 273 Question Id : 7230531815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 274 Question Id : 7230531816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 275 Question Id : 7230531817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 276 Question Id : 7230531818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 277 Question Id : 7230531819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 278 Question Id : 7230531820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 279 Question Id : 7230531821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 280 Question Id : 7230531822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 281 Question Id : 7230531823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 282 Question Id : 7230531824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 283 Question Id : 7230531825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 284 Question Id ;: 7230531826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 285 Question Id : 7230531827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 286 Question Id : 7230531828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 287 Question 1d : 7230531829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Frafafea 7 & #la @ T Teagraest A AfFe Awar g-Afvaa wwar g2
Options:

« 30T H Isfar 3T = ST & ATHT FT FART T

o T5 3R aEfa F v F ey sfesear & afRw e we
o £ T TR S 7 TR mor TR TEew mE e

« TIT TR & ®7 H ARAEE 9@ T 9O ST

Question Number : 288 Question Id : 7230531830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 289 Question Id : 7230531831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 290 Question Id : 7230531832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 291 Question Id : 7230531833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 292 Question Id : 7230531834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 294 Question Id ;: 7230531836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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